34 - KM 1.66000

31 - KM 1.51000

28 - KM 1.36000

25 - KM 1.21000

22 - KM 1.06000

19 - KM 0.91000

16 - KM 0.76000

13 - KM 0.61000

10 - KM 0.46000

7 - KM 0.31000

4 - KM 0.16000

1 - KM 0.01000

f1s99 ej9o/ed ——f— £6°8€¢
268
: i
- *
[aV]
[
W vYseee— " =
™
5 ﬂ
N IN
. (s
€06
1509 BJ90/Rd ——r £0°6€2C
o
o
©
(2]
[aV]
f1s99 Bj90.sRd VA A 74
T 820
0 N~
N 2
: =y
-~ <
o [aV]
@
o Neeove T T T T/ T/
o)
N X
4|. @
810
£1s99 ej9o/ed ——un SL0ve
o
o
~N
[+2]
[aV]
NdOy PoAqGo 10" L2
f1s99 ej90.sed 16°0vC
120
o mh
: S
- <
[a\]
Ny e e . -
(o)) 99°0ve
™
- ﬁ
N 2
4|. (s
90
1509 ej90/Rd —— Se0ve
o
o
9]
[s2]
[a\]
fisa0 e@oed —— [— L1.'6€2
2
[s]
T 186
i J
0|~ ®
[aV]
T~ z8ese " " " =TTt
0 ﬂ
N 2
. [s]
N266
fiseo @oed —— — G.'6€2C
o
o
N~
[e2]
[aV]
f1s99 ej99/ed ——f— 66°6€C
200
0 [ee]
N [e:3
- [<¢]
[aV]
5 | i S ¢ G © G © b I © GE— . C— — —
o0 70°0ve
™
5 ﬁ
N N
4|. (3]
NTEro
1509 eJ90/ed ———— 6662
o
o
N~
[s2]
[aV]
fisaoepored ——  } zp°0¥2
T €20
n »
N <
. O P
- <
© (aV]
(<] AN R ) A, -
< 8¢ Obe
5 ﬂ
N 3
. s
™Tee0
fisaoepored —— L €5°0¥2
o
o
o)
[s2]
[a\]
fiseoepoled ——  + 19°0%2
T €vo
Te) o
N @3
. o d
- A
< [aV]
@ —_
o ~erove T T - -
o)
N 2
. [s]
140
fiseoejpored —— | 6G°0vC
o
o
%)
[s2]
[a\]
1500 Bj00/Rd — — 18°0%¢
T 90
To) S w
N @ 3
. o fSp |
— A
(aV]
[to)
< 69°0vc w
o)
N N
4|. (3]
%0
fise0 ej90/ed —— — 18°0%¢
o
o
9]
[s2]
[a\]
f1s99 ej9osed ——f— £€6°0v¢
T s80
: g
- g
(aV]
ol e _
@ 06 0ve
™
5 ﬂ
N 2
4|. [s]
N7660
fis90 @oed —— |— 6.°0v¢
o
o
9]
[s¢]
[aV]
f1s00 ej90/Rd —— AN
SOT
: !
- T
[aV]
o
O e "
™
0 ﬂ
N I
. (<]
THT
f1s99 j9osed —— 90" L¥2
o
o
o
[<¢]
[aV]
f1s99 ej9osed —— - 6 1¥e
hGED
o L
N SN
) 0
T S
o
O N e e e e e — . -
® vE1ve
0 ﬂ
N 1N
. (3]
f1s99 ej9osed —— - 2Elve
o
o
o))
[<¢]
[aV]
1500 ej90/Rd —— - Oveve
T~ zve
R 3
: <@
Al <
(aV]
2
P 2Sere
5 ﬂ
N 2
. (3]
Ngez
fisaoepored —— £ 19°2ve

240.00

66'¢

c0¢e-

€€

00°¢-

8y’

0S¢

00°¢-

LL'Y

66°¢-

00°€

66'¢c-

00°€

66'¢c-

oLe

66'¢c-

00°€

L0'€-

00°€

L0'€-

9l'e

¥8'¢c-

che

88¢c-

L0'€

cs'g-

35 - KM 1.71000

32 - KM 1.56000

29 - KM 1.41000

26 - KM 1.26000

23 - KM 1.11000

20 - KM 0.96000

17 - KM 0.81000

14 - KM 0.66000

11 - KM 0.51000

8 - KM 0.36000

5-KM 0.21000

2 - KM 0.06000

1dOX PoAqo I Lc'6€C €6°S
1509 ejo2sRd - v2'6e2 96°¢
NG
\
o] o
N MY
. 93
- [<¢]
0 [aV]
] N —,— e e
o Tebee
0
N IN
. (<]
726
1509 ejo2sRd - 12662 G0°€-
(=]
(=]
N~
[s¢]
(aV]
1589 Bjeosed $5°0v2 SL'E
T oeo0
g :
- S
() (aV]
@
™ Nezove | T T T/ T/
To) 2
N o
- <]
8C0
fisooepoled ———  $2°0¥2 00°€-
(=]
(=]
N~
[s¢]
[aV]
1589 Bjeosed 88°0%2 be
T vro
o) N~
N <
- o)
© S
@
B N | =
0
N 2
4|. (s
vE0
K199 ej9osed Ge'ove 00'e-
(=]
(=]
0|
[sg]
(aV]
1589 Bjeosed — 68652 00°¢
T v.6
0 <
N 02
: )
- [<¢]
© [aV]
™ .
o ~osete T T T T T T/ /7
0
N N
. (3]
586
1509 ejR2Rd —  18'6£2 66°c-
(=]
(=]
N
[sg]
(aV]
1509 ejR2Rd —  28'6£2 00°€
N g66
; m
™
9 —————————— e ¢ e ® e — e G e G— . — . —
N 00°0¥2
<«
5 ﬂ
N N
4|. (3]
N900
K190 ej9osed — 08'6€2 66'¢c-
(=]
(=]
N~
[sg]
(aV]
1580 Bjeosed - Seove 00°¢
T 910
Te) o
N @
: So
Al <
~ N
NS i
™ Leove
To)
N 2
4|. [s]
9c 0
K190 ej9osed - 82'0¥¢ 66'¢c-
(=]
(=]
0|
[sg]
(aV]
1509 ejR2sRd —  SL0P2 €9°G
2
(3]
T 9g0
o
™l
O nh %ﬂ
. o (se]
A <
[aV]
T evore T T ° "= "= "= - ]
0 ﬂ
N
. o]
NTIv0
1509 ejo2sRd ~  99°0¥2 00°€-
(=]
(=]
0|
[sg]
(aV]
1589 Bjeosed —  89°0%¢ €0'€
T z50
4
[Te) N~
N 2
. )
- <
[aV]
8 *I
i 290ve
5 ﬂ
N N
4|. [s]
N7890
1509 ejo2sRd —  99°0ve 86'c-
(=]
(=]
0|
[sg]
(aV]
1509 ejo2sRd —  /8°0¥2 00°€
T~ 8s0
0 o “
N o3
. )
T S
6 ﬁ
[N N P
o £8°0vC
5 ﬁ
N 2
4|. [s]
Bo U
1509 ejo2Rd —  $8°0¥2 00°¢-
(=]
(=]
0|
[sg]
[aV]
fiseoejoled —1——  QL'LP2 ere
T 860
: .
. )
- <
[aV]
<
| S U —
o VO Ive
0 ﬂ
N I
. (3]
N 801
fiseo ejoored —f—  66°0¥2 L8'¢-
(=]
(=]
0|
[sg]
[aV]
K199 ej9osed AN 74 00'e
™ 6t
o 9ﬂ
N =
. &
- <t
(aV)
ﬁ. N¥etwe " T T T T T
) ﬂ
1)
N N
. (<]
NTogt
1509 ejR2sRd 90" I¥2 00°¢-
(=]
(=]
o)
™
(aV]
1509 ejR2sRd - eeere 00°€
™ vee
o N ﬁ
N S
: N
- <
< [aV]
N N R A .
o Ot eve
5 ﬂ
N I
. (s
194
K190 ej9osed - Leeve 00'e-
(=]
(=]
=
<
(aV]

36 - KM 1.76000

33 - KM 1.61000

30 - KM 1.46000

27 - KM 1.31000

24 - KM 1.16000

21 - KM 1.01000

18 - KM 0.86000

15 - KM 0.71000

12 - KM 0.56000

9 - KM 0.41000

6 - KM 0.26000

3 - KM 0.11000

X: |3
2.5z >
o 2 | -
A jp @ N N~ o
z8%| 5 AN
2228 =
O ess M_ « 0
— <8l E
O |, |78|¢
ol 2| &l 2| =
Ll Xl ol ~|~| A
O £
2 | 3
82l &
X [2]
8| @] 3] =l g
S5 8| E| 5| ¢
X) 3 sl @
O| 3| =L =] &
slwg |S
ol = Q
QO QO
21 % 2Q
x [
w S oD N—
x o ] C
m 2|5 © o
3| O .m )
,;VH (S INe) O (O]
w | & =) o
o3| o
g|Z| .8 'S o
S o ‘=
=2 = C 0
E| & . ()]
Q| x =] N X
=3 n_mu X N C
|| N > N "=
nvu nKa m. W © m ~—
N NG O
g 185 L2 >
= S nW.. P >
5 > N (]
g |12 £ 0O N
S e O (qv] (O]
- © P
© S3| o O
x 2 2N - C
> x £ o O O
£l |58l a@ c
M No—
Ol> 28| @© 3 >
ofol'c ol|—w C
RER =R o X DI
25825 =0
£ o ~
ol OO |2 A2U
_| |2 =
S ©
HRE = 0
IR @ ]
Slol|l o ] &
>10| O < z
doX poAqo - G¥'6ee
f1s99 ej9osed —— F cv'6ge
0%'6
10 I
of
- [<¢]
[a\]
™
%. Yrro——— - ———-—
5 ﬂ
N N
(3]
056
f1s99 ej9osed —— - cv'6ge
o
<
N~
[+2]
[aV]
1509 €J90/Rd ——— 16'8€¢2
™ w8
0 |
R 5
- [s2]
[aV]
Nt
0
N N
. (s
1481
fis90 j@oed —— — 18'8€¢2
o
<
©
[+¢]
[aV]
f1s99 e[2o.sRd 9¢'0v¢
€20
10 2h
N =
S
Al <
[aV]
5 H—— —— ¢ — - — - - . Em— e e e G — - e—
N 8L 0vZ
™
0
N WMN
N Z2ro
1509 eJ90/Rd ———— 86°6£2C
o
o
N~
[s2]
[a\]
f1s99 ej90.ed 0c' e
199 ej90.sed 0L e
T z2z0
0N <
N ~
: =
A <
- 8V
Q
9 Yo —r—r—————-
o)
N X
. o
f1s99 ejoosed —— £5°0ve
o
o
o)
[s2]
[aV]
f1s99 ej9o/ed ——— 26'6€2C
886
0 ;
N SN
o
Al (%2)
[aV]
0
O i e e ————— . ]
% v6°6EC
o)
N mﬁ
566
1509 €j90/Rd ———— 86°6£2C
o
o
N~
[s2]
[aV]
1500 ej90/Rd —— F ¥20ve
T 600
To) © w
N N
B S o)
A <
© [aV]
9 D e——c— - — - cm— e b — . — . w— - —
o) vIove
o)
N N
N (3]
A=Y
f1s00 ej90/Rd —— - 620vC
o
o
%)
[s2]
[a\]
fiseo ejeored —— - 99°0vC
T ogo0
0 3 ﬂ
N O [®
0. s}
- <
[aV]
o e — e — e — e — e — . —
® GE0ve
6o ﬂ
N
. [
Novo
fiseo ejeoled —— |~ cL0ve
o
o
9]
[s2]
[aV\]
fisao poed —— |— 9.°0v¢
T 0s0
Te) (2]
N ™~
. o q
A <
(%) [aV]
A
4| Y —r—r— | ——— -
0 w
N 3
. o)
190
fiseo e@osed —— 1~ cL0ve
o
o
%)
[s2]
[aV\]
fise0 ejoo/ed —— — 28'0ve
T 120
5 ~—
N @32
. 03
— <
[aV]
3
o 9.°0ve
0
N 2
. (3]
NT180
fise0 ejeo/ed —— [— 6L°0vC
o
<
©
[s¢]
[aV]
f1s00 ej90/Rd —— - 2 e
N
<
N
(s
ol T @60
N
|2 § e
. - P
- <
(aV]
Yrgmy === — — =
5 ﬂ
N~
. of
N2or
f1s99 ej9osed —— FYL e
o
<
[¢2]
[<¢]
[aV]
f1s99 ejoosed —— - 02 I¥e
Tert
0 %
=0
-
- <
(aV]
N
8. I|||0||NF 7S e amm o e o — . c— . c— - —
™
o ﬂ
N o
(s
A
1500 ej90/Rd —— FShive
o
<
[¢2]
[<¢]
[aV]
f1s99 ej9osed —— f— 88°Iv¢
AN
n ©
N @3
. -M
Al <
© (aV]
7 N —— . G— . — . — — e C— e c— . — - e—
™ 187 Hve
[to)
N 2
. (3]
98T
1509 ej90/Rd —— }— 06° e

239.00

00

00°¢-

(4]

00°¢-

cee

00°¢-

6Ev

9G'¢€

18'¢c-

00°€

66°¢c-

00°€

66'¢c-

c6'€

SEy-

c0'e

66'c-

06'¢c

oLe-

99°'G

00°¢-

00°€

00°¢-

00°€

00°¢-



